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A car accelerates from rest at a constant rate « for some time after which it decelerates at a

constant rate 3 to come to rest. If the total time elapsed is t seconds, the total distance

travelled is :
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Question Number : 1 Question Id : 8643512971 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 2 Question Id : 8643512972 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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A modern grand - prix racing car of mass m is travelling on a flat track in a circular arc of
radius R with a speed v. If the coefficient of static friction between the tyres and the track is
1., then the magnitude of negative lift F; acting downwards on the car is : (Assume forces on

the four tyres are identical and g=acceleration due to gravity)
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Question Number : 2 Question Id : 8643512972 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
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mj g
R
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Question Number : 3 Question Id : 8643512973 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A Carnot’s engine working between 400 K and 800 K has a work output of 1200 | per cycle.
The amount of heat energy supplied to the engine from the source in each cycle is :

Options :

8643518919. 2400 ]

8643518920. 1600 J
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8643518921. 3200 J

8643518922, 1800]

Question Number : 3 Question Id : 8643512973 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
400 K mmib 800 K Geuliuiblenevsgmadlantuldled Glewauhib em &mrermm or by ol e
Qeuafluih Ceuaner g &DHMIGE 1200 J erafled epeddladlmba erbErSHm @ eeubleaumm

shdlayd efls&siin@En Heulin gyhmeilar sjema :
Options :

8643518919. el

8643518920, 1600 ]

8643518921. 3200 J

8643518922, 1800]

Question Number : 4 Question Id : 8643512974 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A solenoid of 1000 turns per metre has a core with relative permeability 500. Insulated
windings of the solenoid carry an electric current of 5 A. The magnetic flux density produced

by the solenoid is : (permeability of free space =47 x10~7 H/m)

Options :
4

8643518923, 10 "m T

3
8643518924, 2% 107 = T

T

8643518925, °
8643518926,

Question Number : 4 Question Id : 8643512974 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No
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Correct Marks : 4 Wrong Marks : 1
@ B m&@ 1000 &hnsamend CsramL g &mlal gl 2 U L@dmer 500
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Options :
8643518923, 10 '™ T
8643518024, 210w T

.
—1
8643518925. 2

8643518926, T |

Question Number : 5 Question Id : 8643512975 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A current of 10 A exists in a wire of crosssectional area of 5 mm? with a drift velocity of

2x10" 3 ms 1. The number of free electrons in each cubic meter of the wire is
Options :

[
8643518927, 210

23
8643518928, 1 <10

- 25
8643518929, 625 %10

25
8643518930, 2% 10

Question Number : 5 Question Id : 8643512975 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

6/84



3/17/2021

;
8643518927, 2*10°
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8643518928, 1 <10

3 25
8643518929, 02510

25
8643518930, 2% 10

Question Number : 6 Question Id : 8643512976 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A mass M hangs on a massless rod of length [ which rotates at a constant angular frequency.
The mass M moves with steady speed in a circular path of constant radius. Assume that the
system is in steady circular motion with constant angular velocity w. The angular momentum
of M about point A is L. , which lies in the positive z direction and the angular momentum of

M about point B is L. The correct statement for this system is :

Options :

L A and LB are both constant in magnitude and direction
8643518931.

8643518932, L, is constant, both in magnitude and direction

2643518933 LB is constant, both in magnitude and direction

LB is constant in direction with varying magnitude
8643518934. 3

Question Number : 6 Question Id : 8643512976 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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L, whmib Ly @rewr(hb wrmrs erant wSlliL womn fas Glaremr_g).
8643518931. = = B@ P :ﬁ 0 é] =
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8643518932.
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8643518933.
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8643518934.

Question Number : 7 Question Id : 8643512977 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
An AC current is given by [=1, sinwt+ 1, coswt. A hot wire ammeter will give a reading :
Options :

L+1

8643518935. V2
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Question Number : 7 Question Id : 8643512977 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
AC WBlenGerr_Lib I=1, sinwt+ L, coswt erard il (Hemeng). @Lrear &0 B L
ST_(HD erel( :
Options :
L +1,

)

8643518935.

8643518936.

8643518937.

8643518938. 1|ul

Question Number : 8 Question Id : 8643512978 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A polyatomic ideal gas has 24 vibrational modes. What is the value of vy ?

Options :
8643518939, 10-3
8643518940, 13U

8643518941, 103
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8643518942, 137

Question Number : 8 Question Id : 8643512978 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
R(H Leddiaml meadlwed] eumy 24 dlifeym uriu@sener Claramherens erefled y -am
iy ?

Options :

8643518939, 10-3

8643518940, 13U

8643518941, 1-03

8643518942.

Question Number : 9 Question Id : 8643512979 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

When two soap bubbles of radii a and b (b > a) coalesce, the radius of curvature of common

surface is :

Options :

8643518943.

8643518944.

8643518945.

8643518946.

Question Number : 9 Question Id : 8643512979 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
" ab
b—a

8643518943.

8643518944.

8643518945.

8643518946.

Question Number : 10 Question Id : 8643512980 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

— A
A triangular plate is shown. A force F = 4i 3jis applied at point P. The torque at point

P with respect to point ‘O’ and Q' are :

Ya

> X
o)
fe——-10 cmgﬂq
Options :
8643518047, — 15 =203, 15— 2043
8643518948, 15 + 2043, 15 — 2043

8643518949, 15 — 2043, 15 + 2043

8643518950, — 15 + 2043, 15 + 2043
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Question Number : 10 Question Id : 8643512980 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

8643518047, — 15 — 2043, 15— 2043

8643518048, 19 + 2043, 15 — 2043

8643518049, 15 — 204/3, 15 + 203

8643518950, —15 + 20§3, 15 + 203

Question Number : 11 Question Id : 8643512981 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Two identical metal wires of thermal conductivities K | and I(2 respectively are connected in

series. The effective thermal conductivity of the combination is :

Options :
Kq Ko
K, + K»
8643518951.
' 2Kq K»
K, + K>
8643518952.
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Ky + Ky
)
8643518953. il Bt
K, + Ks
1 K2
8643518954,

Question Number : 11 Question Id : 8643512981 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Ky whmb K, deutiumisL 510 Snearseaner daram, @@m ¢@i55 2 Cars swilsen
Agrfeanrblea @eaamssuul(Hererg. @dm Leanwlbear Lweamm oo

FL55ID Slmer :

Options :
Kq Ko
Ky + Ko
8643518951,
' 2Kq K»
Ky + K»
8643518952,
Ky + K,
y
8643518953, 1 K2
Ki + Ks
Ky K
8643518954, S

Question Number : 12 Question Id : 8643512982 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A boy is rolling a 0.5 kg ball on the frictionless floor with the speed of 20 ms I The ball gels
deflected by an obstacle on the way. After deflection it moves with 5% of its initial kinetic

energy. What is the speed of the ball now ?
Options :

8643518955, 1.00 ms ™1

1
8643518956, -3/ mMS

1
8643518957, 1441 ms
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1
8643518958, 19-0 ms

Question Number : 12 Question Id : 8643512982 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
e enuwen 0.5 kg BlenmwenLwi e ubensg 20 ms—1 Geussdler 2 ymieubm Sengulle
2 merd Clealdmren. LwenTliuTensuleh 2 ear ¢um SenLwmre Lbg efledsweanEms.
Guaib eflwsais@l Year g6 Csm_ss @uiss pnmeiled 5% 21 an LiwanflEsng
erafled, HCUrg ubdlen Ceus :

Options :

8643518955, 1.00 ms™!

i 1
8643518956, T3/ mMS

1
8643518957, 1441 ms

1
8643518958, 19-0 ms

Question Number : 13 Question Id : 8643512983 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The thickness at the centre of a plano convex lens is 3 mm and the diameter is 6 con.  If the
speed of light in the material of the lens is 2 x 108 ms —1. The focal length of the lens is
Options :

8643518950, S0 €m

8643518960, 12 cm

8643518961, 10 €M

8643518962, U-30 cm

Question Number : 13 Question Id : 8643512983 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

8643518959, 20 €m

8643518960, 15 cm

8643518961, 12 cm

8643518962, 0-30 cm

Question Number : 14 Question Id : 8643512984 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which level of the single ionized carbon has the same energy as the ground state energy of
hydrogen atom ?

Options :

8643518963, 1
4

8643518964

8643518965, ©

8643518966.

Question Number : 14 Question Id : 8643512984 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
@nenn Sweflursds &riuailer 6Thg <,mHme L L LD enam L Tmer jamiesler <2)iq blane

SLHmed UL GSlen 24,DMa)IHE, FODTE jEDWD ?
Options :

8643518963, 1

8643518964. "

8643518965. ©
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8643518966. s

Question Number : 15 Question Id : 8643512985 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Two ideal polyatomic gases at temperatures T.l and T;,_ are mixed so that there is no loss of

energy. If F; and F,, m; and m,, n; and n, be the degrees of freedom, masses, number of

molecules of the first and second gas respectively, the temperature of mixture of these two

gases is:
Options :
.I'IIFITI 1 I"IzeTz
8643518967 Ll
.I"IIFITI 1 ﬂzeTz
8643518968. F+B
.I"IFITI 1 I"IzeTz
8643518969,  MiF1 + ok
lI'I]T} 1 I"Isz
I"I] 1 ﬂz
8643518970.

Question Number : 15 Question Id : 8643512985 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T, womn T, HesiuBlenawsefler o arer GH Bael ey LD @ 6T &Ser
sessLubhn Curg sisala ynned @iy ghubhaddame. F, wpmb F,,
m; LOHMID m,, n; LHMILD n, eremear PernGL (PHe WHMID EIFeaTLmbd eurwsseflear
2 fenwliLigser, BlenmaEeT wWHMID fpassmmEaiean oreamamilsamaser crafd Gleuallm

eurwyd seveneuuden Gleuliuiblenay :

Options :
.I"IFITI 1 nzeTz
8643518967. oy F
.nIFITI 1 I"IzeTz
8643518968. F+K
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: ng Fl Tl { I'IzeTZ
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8643518969.

. n 1T1 { I'IzTZ

ng + np
8643518970.

Question Number : 16 Question Id : 8643512986 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

For what value of displacement the kinetic energy and potential energy of a simple harmonic
oscillation become equal ?

Options :
8643518971, X~ T A
8643518972, ¥ =0
b o in
8643518973, V2
3'1'L
_'x' e LA
~
8643518974 =

Question Number : 16 Question Id : 8643512986 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
TS @ @ LUCuwTEf&E, Fllens @) usssdlen @GS 2,Dmd wHmD Blave 2 Hma

FLOLOME @(HEGHD ?

Options :
8643518971, X~ = A
8643518972, ¥~ 0
x= =+ in
8643518973, V2
r'1'L
_'x' Sre SO
-
8643518974, i
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Question Number : 17 Question Id : 8643512987 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The output of the given combination gates represents :

A

B

Options :
8643518975, AND Gate

8643518976, VOR Gate

8643518977, VAND Gate

8643518978, “OR Gate

Question Number : 17 Question Id : 8643512987 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
CarRssliu’_Herer eurulager gl L enwliber Ceuefluih @MliLg) :

A

B

Options :

AND sumule
8643518975.

NOR sumullen
8643518976.

NAND aumuled
8643518977.

XOR. sumullen
8643518978.
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Question Number : 18 Question Id : 8643512988 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
An electron of mass m and a photon have same energy E. The ratio of wavelength of electron
to that of photon is : (¢ being the velocity of light)

[ E\%
(5

¢ (2mE '.1-1'5

Options :

8643518979.

8643518980.

8643518981, © °

8643518982.

Question Number : 18 Question Id : 8643512988 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
m -Hlepmenw m eredlrren wHmb @ CurlLrer @ramhbn @bs DM
E -; Quipmédreran. ereslyraflar eeberd whmbd Curliireaflar ojeme
beargdnarer eldsn : (¢ -gailuler HensCeousibd)

Options :

1

(&)

[

8643518979.

8643518980.

8643518981, © °

8643518982.

Question Number : 19 Question Id : 8643512989 Question Type : MCQ Option Shuffling : Yes Is Question
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Mandatory : No
Correct Marks : 4 Wrong Marks : 1
The vernier scale used for measurement has a positive zero error of 0.2 mm. If while taking
a measurement it was noted that ‘0’ on the vernier scale lies between 8.5 cm and 8.6 cm,
vernier coincidence is 6, then the correct value of measurement is cm.

(least count=10.01 cm)
Options :

8643518983, 5-08 cm

8643518984, 8:56 cm

8643518985, 5% €m

86435180986, 5-30 cm

Question Number : 19 Question Id : 8643512989 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
semedl U vweruhisslul L deurailwi emell 0.2 mm Cri@nl &0 weanws
QarawHarers. 2eral(n Gelwyb CGurg Geufrafllufer ‘07 -Gfley 8.5 cm -&@b

8.6 cm -&@WL @l wWe zarargy. Cuoaub CQefaflur geardeaneaney 6 erafle

oerel e Fflwurer wHiy  cm. (BFfHmerey =0.01 cm)
Options :
8643518983, 528 cm

8643518984, 526 cm

8643518985, 504 cm

8643518986, 530 cm

Question Number : 20 Question Id : 8643512990 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
If an electron is moving in the nth orbit of the hydrogen atom, then its velocity (v, ) for the nth
orbit is given as:

Options :

v x n
8643518987. ™
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U, X
8643518988.

8643518989.

8643518990.

Question Number : 20 Question Id : 8643512990 Question Type : MCQ Option Shuffling : Yes Is Question

Mandatory : No
Correct Marks : 4 Wrong Marks : 1

en@mL g e emelled eTedLmenm epemm n-eug eul L urensuile @uwisssdle

2 aTengl. n-eugl eul LU urenguied gen HlansGeusid (v,).

Options :

8643518987. ™

8643518988. ™

8643518989.

8643518990.

Section Id :

Section Number :

Section type :

Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :
Section Marks :

Mark As Answered Required? :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Physics Section B

864351200
2

Online
Mandatory
10

5

20

Yes

1
864351200
Yes

Question Number : 21 Question Id : 8643512991 Question Type : SA
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Correct Marks : 4 Wrong Marks : 0

For VHF signal broadcasting, km? of maximum service area will be covered by
an antenna tower of height 30 m, if the receiving antenna is placed at ground. Let radius of
the earth be 6400 km. (Round off to the Nearest Integer) (Take w as 3.14)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 21 Question Id : 8643512991 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Blee wirey oiflfdeuas VHF engens Lirligaila, il o el senrullay 2 erar Guimg,
30 m B 2 wrapeter gy 2ewrfl Garyrd  km? Gumn wesfl urlenu
Ly Téd Celdlpg. yellufer <yrb 6400 &.08. ereéns. (maErewuled o @rer wpp

erer@mibh@ Camrmuwnrs) (w=3.14 crand &(H5HIS)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 22 Question Id : 8643512992 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

If25x10 6N average force is exerted by a light wave on a non - reflecting surface of 30 cm2
area during 40 minutes of time span, the energy flux of light just before it falls on the surface
is W/cm?  (Round off to the Nearest Integer)

(Assume complete absorption and normal incidence conditions are there)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 22 Question Id : 8643512992 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
22/84
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25x10-6 N grrefl eflens Gara gofl @ edGrrefliunn 30 em? LrlGer B
40 Bl maer afl(wdmg. urubea afl(weausn@ wer gaflullear o mma LTWLD

Wb/cm? (imarenwnulde 2 dren 1pp erangmisE Cammunrs) (SmEs -

(W(penwwirear 2 MHlighdFao wHMD srrefl qafl el Blubsmaser)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 23 Question Id : 8643512993 Question Type : SA
Correct Marks : 4 Wrong Marks :

L

Four identical rectangular plates with length, I=2 em and breadth, b = — cm are arranged

[

) i . . . XE i
as shown in figure. The equivalent capacitance between A and C is Tﬂ The value of x is

. (Round off to the Nearest Integer)

d d d

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 23 Question Id : 8643512993 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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gl o o i : 3 _ ; : ks g G e
BEmD I=2cm OMID <SG b= — cm2 LW Brend @55 Clacueus Hahser ULl

sriguieurn sewssiul RHererer. A womb C -&@ @eaLuleorar 6lgm@Luiwen

2
s . . a . . . o 2
e G s @ Smeir % arafléd x -am AUy . (mEreonudléd 2 et wp(p
X

eremt G&mymwunms)

d d d

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 24 Question Id : 8643512994 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
The equivalent resistance of series combination of two resistors is‘s’. When they are connected
in parallel, the equivalent resistance is ‘p’. If s=np, then the minimum value for n is
(Round off to the Nearest Integer)
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 24 Question Id : 8643512994 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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wHuy . (Smsrenoude o drer apperanr GHTrmuLLms)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 25 Question Id : 8643512995 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A parallel plate capacitor whose capacitance C is 14 pF is charged by a battery to a potential
difference V=12 V between its plates. The charging battery is now disconnected and a
porcelin plate with k=7 is inserted between the plates, then the plate would oscillate back
and forth between the plates with a constant mechanical energy of Pl
(Assume no friction)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 25 Question Id : 8643512995 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

14 pF WenCsa@ dmen ‘C CararL qm @aanss (B WaGssdl Wlarar((pss
Caumumr(h V=12V . aLw gm Weasmgdlarmd Wearar L Glelwiubhdng,.

14 pF WlenCas@ Slmen Caram_ gm Glaanss () WeaGCasdl aqm wWlanseaddare
BlarCssdlullen sashisErssa Cu 12V Wleaarwss Ceamur(® = dreremm
Weranr L ib Gedwutin@éng. Beasab Besiu’ O k=7 Carar_ Skhisrar s
saHaEhEdlen LCU Fleowpdstiuhdlng. Shsrear 55 WeatCsadl &&Ha@nsdanCu
(Wpengyilb Gengyors wrmrg eThély mmed _ pJ -2 La seneeamdlmg.
(e_grley @eaene 6Ted &(HEHIH )

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
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Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 26 Question Id : 8643512996 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The radius in kilometer to which the present radius of earth (R =6400 km) to be compressed

so that the escape velocity is increased 10 times is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 26 Question Id : 8643512996 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

efl(hu@p SeansGeusd 10 wLkiE flsfsgorm sHGUTE 2 dter el (R=6400 km)

SIPESILLL T, Sjdslul L yedluller <oy, rib

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 27 Question Id : 8643512997 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The angular speed of truck wheel is increased from 900 rpm to 2460 rpm in 26 seconds. The

number of revolutions by the truck engine during this time is

(Assuming the acceleration to be uniform).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 27 Question Id : 8643512997 Question Type : SA
26/84



3/17/2021
Correct Marks : 4 Wrong Marks : 0
@m euamguilean g&arsdlen Caram Geusd 900 rpm -é @(mbH 2460 rpm -&(5
26 ellanmgsafley flsfsslinbEng. @QEsrwsdla cuamred sEarn Guonblsmer @yl

FLOGOSETI G GT et et den & (WwHdsD Errans erend HiH%dE)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 28 Question Id : 8643512998 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Consider two identical springs each of spring constant k and negligible mass compared to

the mass M as shown. Fig. 1 shows one of them and Fig. 2 shows their series combination.
The ratios of time period of oscillation of the two SHM is Tl;'/ﬁ; = Jx, where value of x is
/ d

(Round off to the Nearest Integer)

FLE LR AL R

00000
U000

&
00000

Fig 1

Fig 2

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :
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100

Question Number : 28 Question Id : 8643512998 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
M BlespyLen eulhn CGurgy ynssaflésssss Blam o aiw, s@mer wrble
k ClaramrL @), @58 Hmer eiligEaner &(m& Geurd. sjeunmle eemenm ULLD (1) WwHmb

uLLb (2) seunler Qsrfaeanrleuyb sriHidng. @aeaim &las @ubskiseailen

(SHM) sienava) CrrmisenésE Ganl Guwirar cilélsib Tl‘,«flf = Jx erafléd, x-ein iy

|

. (2imdled 2 e pp erem Hl(HSHLONS)

BRI LR i

VOOOO
00000

B
00000

w1

L p 2

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 29 Question Id : 8643512999 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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The following bodies,

(1) aring
(2) adisc
(3) asolid cylinder

(4) asolid sphere,

of same mass ‘m’ and radius ‘R’ are allowed to roll down without slipping simultaneously

from the top of the inclined plane. The body which will reach first at the bottom of the
inclined plane is

[Mark the body as per their respective numbering given in the question]

B N

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 29 Question Id : 8643512999 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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(Qumrmener Gaetallullar sriul (Herer 2ig5nE M erameanrre @mnléEs)

ﬂ o

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 30 Question Id : 8643513000 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Two blocks (m=0.5 kg and M=4.5 kg) are arranged on a horizontal frictionless table as

3
shown in figure. The coefficient of static friction between the two blocks is F Then the

maximum horizontal force that can be applied on the larger block so that the blocks move

together is N. (Round off to the Nearest Integer) [Take g as 9.8 ms ™ 7]
m
F
M —>

L LT
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 30 Question Id : 8643513000 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

@\ slenLgem (m=0.5 kg wHmid M=4.5 kg) uLsdléd arlgwieurn e 2 rmienm

=

dlen_gsearsdler emwssLLL(Haterar. @ Sl &@rsE @eCuwrer

Blenauidwe 2 grile] Gaman 5 ELD.
: 7 <

slenL & safldsliubib Cumn e sser allang

(WP eTemr Sl(HESLONS)

m
M
T LT TTTAT

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Mark As Answered Required? :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Chemistry Section A

864351201
3

Online
Mandatory
20

20

80

Yes

1
864351201
Yes

aleuallm slenLs@Ephd gmaGs ey, Gluflw

N. (2mCs 2 _amar
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Question Number : 31 Question Id : 8643513001 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A central atom in a molecule has two lone pairs of electrons and forms three single bonds.
The shape of this molecule is :

Options :

planar triangular

8643519001.

8643519002, L -snaped

8643519003, ~CE AW

8643510004, T80Tl pyramidal

Question Number : 31 Question Id : 8643513001 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

@ eperddn Dl enLowl < amieumarg @lgent () seifl Gy eTedE L FIansar W HmILD eLpedtm)
@hennl WenentliLseamend lsmenrig (HbSme, bepeddamlen ienLli

Options :
864351900, LB (Lp& (B8 memT LD

8643519002, | - @llg@uld

gMm - EIN&ESEL Lens <enloLliL
8643519003. i D =

rp&sGamem Smbm
8643519004, o0

Question Number : 32 Question Id : 8643513002 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A colloidal system consisting of a gas dispersed in a solid is called a/an :
Options :

8643519005, aerosol

8643519006, Solidsol

8643519007, 10am
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8643519008, 5

Question Number : 32 Question Id : 8643513002 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
62(1h {t_*:ll_l_'\:_x]l_ll{_lt;-n lev e eumwy eilyeued SMIERILLNS H;IUE,I_&@['}LL‘I &nlDLOLOME &)
Options :

8643519005, @ U Medme

8643510006, D=5 &1

(R &F ]
8643519007. =

ke
8643519008, &'

Question Number : 33 Question Id : 8643513003 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The absolute value of the electron gain enthalpy of halogens satisfies :
Options :

8643519009, F > C1>Br >1

8643519010, <1~ F >Br>1

8643519011, <1 > Br>F>1

8643519012, 1> Br>Cl>F

Question Number : 33 Question Id : 8643513003 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
an remeansaflear eraslgren gny phmedler sflwner euflens.

Options :

8643519009, [ > C1> Br>1

8643519010, <1 > F >Br>1
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8643519011, C1> Br>F>1

8643519012, 1> Br=Cl1>F

Question Number : 34 Question Id : 8643513004 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The point of intersection and sudden increase in the slope, in the diagram given below,

respectively, indicates :

—— AG"/kJ mol” of O,

| L | | 1 L L | | 1
0°C 400°C BOOC 1200°C 1600°C 2000°C
273 K 673 K 1073 K 1473 K 1873 K 2273 K

— Temperature

Options :

8643519013, AG <0 and decomposition of the metal oxide

8643519014 AG > 0 and decomposition of the metal oxide

AG =0 and melting or boiling point of the metal oxide
8643519015.

8643519016, AG =0 and reduction of the metal oxide

Question Number : 34 Question Id : 8643513004 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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———> AG"/kJ mol” of O,

| L | | 1 L L | | 1
o0 400°C BOOC 1200°C 1600°C 2000°C
2753 K 673 K 1073 K 1473 K 1873 K 2273 K

—— Temperature
Options :

AG <0 whmwb = CGons GENENIET Flenge
8643519013. pal < t s

AG>0 wpm 2 Gans GENEn el Flense
8643519014. O B 5 i

AG=0 ommw = Cars HEN Gl GIT D (1 g ard blene
$643519015. Hy b g6l 2 (G SAdag Carsfl

8643519016, AG=0 wHmib 2 Geons Y&meviger (&SN

Question Number : 35 Question Id : 8643513005 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The INCORRECT statement(s) about heavy water is (are)
(A) wused as a moderator in nuclear reactor

(B) obtained as a by-product in fertilizer industry

(C) used for the study of reaction mechanism

(D) has a higher dielectric constant than water

Choose the correct answer from the options given below :

Options :
35/84
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8643519017, (©) only

8643519018, (B) Only

8643519019, (D) only

8643519020, B) and (D) only

Question Number : 35 Question Id : 8643513005 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
sigarn hengl uhnlu Seumnest sFwnm (&dr) :

(A) «am o emeseflar salllureamms LwerubhSng

(B) =ns Qarfibemenasaila o e aflener Qummerns SlanLsdmg

(C) Ceudlelenensaflen ellenameuflenw sewrL Pl LwerubEng

(D) Fenpdar_iweib ofls @bl penand &lmmlusd e wrlelenwl Clummn erears

Snssareupiledmbg eflwrenr ellenLeanws Csibbls.
Options :

e
8643519017, (&) 0=0®

8643519018, (B) LoD

s
8643519019, (D) (bl

sy s
8643519020, (D) L0 (D) LGB

Question Number : 36 Question Id : 8643513006 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The correct order of conductivity of ions in water is :
Options :

8643519021, Cs* > Rb* >K* > Na*

b b b b
8643519022, Na© > K* >Rb™ > (s

b } ' '
2643519023, KW >Na' >Cs* >Rb
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8643519024, Rb* >Na* >K* > Li*

Question Number : 36 Question Id : 8643513006 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Bl Epsan swellsafler sLss SHoeaflar sfluner eufleans
Options :
8643519021, Cs* > Rb* >K* >Na®

8643519022, Na© >K* >Rb* > Cs

} } i '
2643519023, K >Na® >Cs* >Rb

b b b + o
8643519024, R~ >Na® >K* >1Li

Question Number : 37 Question Id : 8643513007 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which of the following compound CANNOT act as a Lewis base ?
Options :

CIF
8643519025. 3

8643519026. ey

8643519027. NF,

S 4
8643519028,

Question Number : 37 Question Id : 8643513007 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Epssan oThs Geywbd el smrons CaudUL (PG uwng ?

Options :

8643519025.

PCl,
8643519026.
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N 3
8643519027, -

S 4
8643519028,

Question Number : 38 Question Id : 8643513008 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
What is the spin-only magnetic moment value (BM) of a divalent metal ion with atomic

number 25, in it's aqueous solution ?
Options :

8643519029. 5.0

.
8643519030, °-2©

2
8643519031. A

8643519032, “¢T°

Question Number : 38 Question Id : 8643513008 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

hi& senrsedled, eml erewwr 25 2 enLw T @enemtdner Gsmawr o Ceons wefluSen
b1 bl [JdFelicl, <54 el ol GiyL_IL] T i eledll SlDell ‘ol Tl r 2HLE @
FPH& W (b sryeRTorear &Mbhs Spuydner wdoy eremear ?

Options :

8643519029, 2-U
8643519030, 2-26

8643519031, 2-92

anefl WD
8643519032, =@

Question Number : 39 Question Id : 8643513009 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Given below are two statements :

Statement [ : Potassium permanganate on heating at 573 K forms potassium manganate.

Statement Il : Both potassium permanganate and potassium manganate are tetrahedral
and paramagnetic in nature.

In the light of the above statements, choose the most appropriate answer from the options

given below :

Options :

8643519033 Doth statement I and statement 11 are false

8643519034 Both statement I and statement Il are true

8643519035. Statement | is true but statement 11 is false

8643519036. Statement 1 is false but statement 1l is true

Question Number : 39 Question Id : 8643513009 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
£CGy @ran(h smbmésedr darbssiul (Derarer :
gapm - 1: Curmlrflwd ujormsGear_a 573 K -alln@ Gelulu®ssn
Qumrupgs Qurierflubn wrisGarl faLsd8ns).
gapm - I: Gumiirflubd ujoriasCGear’ wHomn Guricrflubn wrisGar
@rew(hb Brempdl SenwliLy WHDID LMTTSNESE5S emenn Gl SreRr_enel.
Cupsar_ smpnsafld @mbs Blal Clunmaswre ailen_eanw Epdsereuhible mbag
CaibblsH :
Options :
$643510033, gapml - I womb somy - I @rean(Hin seummer s
2643519034, gamm - [ womb gamm - Il @ranhin sflureag

8643519035, DOl - l&|ﬂu_||16nr@1 Sernel Famml - 1l seummeng

8643510036, DD - 1scpTens armd sapm - Il sfluinens)

Question Number : 40 Question Id : 8643513010 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Reducing smog is a mixture of :
Options :

2643519037, >Moke, fog and O,

Smoke, f d SO
8643510038, P e SOE RO I

8643519039, Smoke, fog and N,O,

Smoke, fog and 'CI—I2 =CH - CHO
8643519040.

Question Number : 40 Question Id : 8643513010 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ELDSEOTL. 6THS epelmMlell Soenel (R usiuyens ?
SpsaiL ahs @ TICEIG) |

Options :
Lens, Ualfl wHmib O
8643519037. :
Lens, Uefl whmb SO,
8643519038.
Len&, Ul whmin N,O
8643519039. i
2643519040, LS. ueifl whmd CH,=CH-CHO

Question Number : 41 Question Id : 8643513011 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement 1 :  Retardation factor (R;) can be measured in meter/centimeter.
Statement Il : R, value of a compound remains constant in all solvents.

Choose the most appropriate answer from the options given below :

Options :

2643519041 Both statement I and statement 1l are true
Both statement I and statement 1l are false

8643519042.

8643519043 Statement 1 is true but statement 11 is false
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2643519044 Statement 1 is false but statement 11 is true

Question Number : 41 Question Id : 8643513011 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Gy Qe spmiser Hanhiés il [Hereren.

&Lg)@j - I: {a_;-a‘rr-{@brﬁﬁ-ar:}& amyenfleniy B 7/Cgemg BULT HO&TH DjeTdsambd.
gamm - II: e Caqwsdlern Ry il unang) siamearss sanrlunargetiib wrmmo e
@) (h& (HLD.

Sssar el mbs el Qunmsswoner cdaLomus Csibos®.
Options :
8643519041, FDMI - TLHOD Sapm - I Grem(Hin &l

FoLll - oMb S - 11 @rewT(AL SHeum
8643519042, 0D o Do QrenBn Seum

8643519043, DB - 18| Yamad Smppi - I saig)

8643510044, FDM) - I Seum parned sapmy - I &l

Question Number : 42 Question Id : 8643513012 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which of the following is an aromatic compound ?

Options :

8643519045.

8643519046.
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8643519047.

U

8643519048.

Question Number : 42 Question Id : 8643513012 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

afgj&aze.frn_@uﬁj_l_ﬁ-at oT& Grmnmiysd Gsfwb ?

Options : _
8643519045, :>
8643519046, :>©

7
8643519047, i[@
8643519048, =

Question Number : 43 Question Id : 8643513013 Question Type : MCQ Option Shuffling : Yes Is Question
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Mandatory : No
Correct Marks : 4 Wrong Marks : 1

H Br

Tl e

(Major Product)

Product “A” in the above chemical reaction is :

Options :
Br
CH;
8643519049.
Br .
CH
8643519050. CHjy
Br
CHj,
8643519051. Hs
Br
CH,
8643519052. CHj

Question Number : 43 Question Id : 8643513013 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

__llEE____;.A
CCly (psemeny eflenen(Glummer)

(BLomh & e (En:u(&}l&ﬁ]m:aarﬁaﬁ “A” erernrm eHlenemol LImmeT
i L
Options :
Br

8643519049.
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Br CH;,
8643519050. C'H3
Br
CH,
Hj
8643519051.
Br
CH,4
CH,
8643519052.

Question Number : 44 Question Id : 8643513014 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1 O"Na™
FNaOH ——» @

The above reaction requires which of the following reaction conditions ?
Options :

2 = :
2643519053 623 K, Cu, 300 atm

2643519054, 272 K, Cu, 300 atm

8643519055, 023 K, 300 atm

8643519056, 272 K. 300 atm

Question Number : 44 Question Id : 8643513014 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Cl

O " Na™
FNaOQH —M » @

GlopaerL @‘a‘am‘b'ﬂ&@hﬁ @Q@E}E‘.Jd_'llﬁ:-ﬂf @‘Cuﬁ;lé’ '?55‘9‘@]%:@; éﬁg‘um@ﬁm L@Uﬁiﬁ:et- eTdH 7
Options :

2643519053, 023 K, Cu, 300 atm

8643519054, 272 K, Cu, 300 atm

8643519055, 623 K, 300 atm

8643519056, 2/> K, 300 atm

Question Number : 45 Question Id : 8643513015 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Mesityl oxide is a common name of :
Options :

A . - i T
8643519057. 4-Methyl pent-3-en-2-one

2 A1) £ T
8643519058, < 4-Dimethyl pentan-3-one

8643519059, 2-Methyl cyclohexanone

8643519060. 3-Methyl cyclohexane carbaldehyde

Question Number : 45 Question Id : 8643513015 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

QuwélleanLe smav( Shpsa ergen Clumgl Guwg ?
Options :

0643519057 4-Cwsdle Cluem-3-rem 2-gpem

24-enL_Glwgdle Cuer _CLem -3-cen
8643519058. i B

8643519059, 2-@wdEler ana&GarnClamdenGenmen
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8643519060.

Question Number : 46 Question Id : 8643513016 Question Type : MCQ Option Shuffling : Yes Is Question

Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Hoffmann bromomide degradation of benzamide gives product A, which upon heating with
CHCI; and NaOH gives product B.

The structures of A and B are :

Options :

8643519061.

8643519062.

8643519063.

8643519064.

Question Number : 46 Question Id : 8643513016 Question Type : MCQ Option Shuffling : Yes Is Question

Mandatory : No

O
\3 _NH,
Br
NH,

Correct Marks : 4 Wrong Marks : 1

3-Clwgdle anss&GerntlansGevern &miLmeiyenanh

NH,

o é:l/ﬂ 10
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Cluengenin(, anriGuer @nidseilenaruiles A ereimm eflenenElLinmenerd smE g Eeans
CHCl; whmitb NaOH -eyLeir @& Huhssnelunipg B eramn aflenearGlummer Sen_sdlmg.

A wHmb B -6 epliLseT

O O
NH, NH,
CHO
A - B —
Br
NC

Options :

8643519061 Br

8643519062.
NHZ NHE
A — ¢ B — ¢/CHO
Br
NH,

8643519064.

8643519063.

CHO

Question Number : 47 Question Id : 8643513017 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
O O

Ethylene Glycol
oy W it il ST

HY (Major Product)

The product “A” in the above reaction is :

Options :
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OH

P S

O O

OCsHs

8643519065.
@)
OH

O

8643519066.

4

8643519067.

O
[%:j}<::fi,LLHx
OCyHg

8643519068. .

Question Number : 47 Question Id : 8643513017 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
O O

DCEHS : A
H* [(U:g;c':r{.n‘m} aflenenr@lL |-|{|_-;.-ai|:|
eflenerClummer “A” eremugy)
Options :
O O
OH

OC,H
8643519065, ke
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8643519066.

8643519067.

8643519068.

Question Number : 48 Question Id : 8643513018 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following reaction is an example of ammonolysis ?
Options :

8643519069, C_E-JHSCOC[ I fi_"{-JI—TEI\II—I2 - C{QHECDNH{ZHH5

CH.CH,CN _MHl . c
8643519070. & 2 2 K

C.H.CH,Cl+NH, — , C.H.CH,NH
8643519071. ¢ > 2 3 ol e g

8643519072. CgHsNH, _HA , GH;NH;Cl

Question Number : 48 Question Id : 8643513018 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Spssam_cunble bCuraflwn L@y eleaneardsmear e 2 SNTanTd 6g ?
Options :
$643519069. CHLOC+CHNH, — , CH.CONHCH,
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CH.CH,CN _Hl , CH.CH,CH,NH,
8643519070.

C.H-CH,Cl+ NH. —  C.H.CH,NH
8643519071, © ° 2 3 G

8643519072, CHNH, HA . CH.NH;Cl

Question Number : 49 Question Id : 8643513019 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

With respect to drug-enzyme interaction, identify the wrong statement.
Options :

8643519073, Competitive inhibitor binds to the enzyme’s active site

8643519074 Allosteric inhibitor changes the enzyme’s active site

2643519075. Allosteric inhibitor competes with the enzyme’s active site

2643519076, Non-Competitive inhibitor binds to the allosteric site

Question Number : 49 Question Id : 8643513019 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

LD (Fh&- eTenmenend pdlweunidlenr @en () FOUBSOTE HeUuDTET Fabenm &ewrL .

Options :
Eleweadmer Shliumear GETHGem Gloawadmer L@Edular Yenewrs S0l B

8643519073, Clewadmen shlume Gpmduller Cauddmer u@duyer Genemrdsliu(Hdnsa

8643519074, SleCGamavEfla sHluurearaser Cprduller Cswadper u@denw wrHmSng.

8643519075, 2@CGamavELflé sHLLmeansar Apndl Cswead per LGS L e Cum_ Wi &g,

2643519076, AFwadnerbp sEH LN yaGambflé L@ er Genanss i Hidl g

Question Number : 50 Question Id : 8643513020 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following is correct structure of tyrosine ?
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Options :
COOH
HoN tfl{:\} OH
8643519077.
COOH
H,N H
OH
8643519078.
COOH
H,oN H
OH
8643519079.
COOH
>N H
OH
8643519080.

Question Number : 50 Question Id : 8643513020 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Spssam_eupdler erg enL Gyméleden FRlwmes =enoliy ?

Options :
COOH
H,N %DH
8643519077.
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COOH
I TEN H
8643519078.
COOH
I 131\1 H
8643519079.
COQOH
I '{EN H
8643519080.
Section Id :

Section Number :

Section type :

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Mark As Answered Required? :
Sub-Section Number :

Sub-Section Id :

Question Shuffling Allowed :

OH

OH

OH

Chemistry Section B
864351202
4
Online
Mandatory
10
5
20
Yes
1
864351202
Yes

Question Number : 51 Question Id : 8643513021 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The mole fraction of a solute in a 100 molal aqueous solution is

(Round off to the Nearest Integer).

[Given : Atomic masses: H:1.0 u, O : 16.0 u]

Response Type : Numeric
Evaluation Required For SA : Yes

*10
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Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 51 Question Id : 8643513021 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

100 Curare Fié semysadler senpblummeflen Guome Gememd - || R
(eflen ymdled o drem (pp erementled)
[@rkiE : ian Blenmser: H:1.0u, O:16.0 u]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 52 Question Id : 8643513022 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The pressure exerted by a non-reactive gaseous mixture of 6.4 g of methane and 8.8 g of
carbon dioxide in a 10 L vessel at 27°C is kPa.
(Round off to the Nearest Integer).

[Assume gases are ideal, R=8.314 J mol ~! K~!

Atomic masses : C: 120 u, H: 1.0 u, O: 16.0 u]

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :
100

Question Number : 52 Question Id : 8643513022 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

27°C Qeuublenaoulded 10 Bl seafla 2 drar 6.4 &gmb Bs5CHem woHmib 8.8 &lymb
srjuaren_wrsenav(h 2w ellenaruLnr aumysswamel FgHURSSHID B WPSHHLD
N kPa. (aflenL ymdled 2 arar (p(yp ereirentled)
[Beoellwery eumussarns smgeyd : R=8314 Jmol ! K1
e Blenmaear:C:12.0u, H: 1.0 u, O :16.0 u]
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :
100

Question Number : 53 Question Id : 8643513023 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A certain orbital has n=4 and m; = 3. The number of radial nodes in this orbital is

. (Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 53 Question Id : 8643513023 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

n=4 wHmb m= -3 -eow Gubmereran. T L relled o drer =Ts &Heamissarfen
eT e emtl & en & . (eflen yméled 2 arer (pp erewTentla)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 54 Question Id : 8643513024 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The standard enthalpies of formation of Al,O, and CaO are —1675 k] mol I and
635 k] mol ~1 respectively.

For the reaction

3Ca0 +2A1 — 3Ca + Al,O; the standard reaction enthalpy _"LIH{] =

(Round off to the Nearest Integer).

K.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
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Possible Answers :
100

Question Number : 54 Question Id : 8643513024 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

ALO, wpmib CaO g flweindler AL 2 (Reurser Ceuliub wpeanmGuw —1675 k] mol ~1
wHmib —635 k] mol ~1, erafler Epsam aflenamullen
3CaO+2Al — 3Ca+ALO, I L eflewanGleuliuib A HO= kJ/ mol.

(eflenL ym&led o amar (p(p erewTentlea)
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 55 Question Id : 8643513025 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The oxygen dissolved in water exerts a partial pressure of 20 kPa in the vapour above water.
The molar solubility of oxygen in water is %1072 mol dm 3.

(Round off to the Nearest Integer).

[Given: Henry's law constant = K;; =8.0x 10 kPa for 0.,.

Density of water with dissolved oxygen = 1.0 kg dm ~3]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 55 Question Id : 8643513025 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Bile senphgerer ydellmer sryamwns Hilar Copu@dulla el @i WsHsh
20 kPa -euns s widlmg, eraflad Gid osallpaiear Gorany sarfner o)z
x107°> mol dm~3. (eflenL =péled 2 arer (p(p eremTentle)
[@RE: GCapereld wrhledl = Ky=8.0x10! kPa (= sellmeansd @)
< Geilgmer saybgarer Bilar =Lja; = 1.0 kg dm ™3]
Response Type : Numeric
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Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 56 Question Id : 8643513026 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
0.01 moles of a weak acid HA (K, =2.0 x10"°) is dissolved in 1.0 L of 0.1 M HClI solution.
The degree of dissociation of HA is %10~ (Round off to the Nearest Integer).
[Neglect volume change on adding HA.
Assume degree of dissociation <<1]

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :
100

Question Number : 56 Question Id : 8643513026 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

0.01 Cuwravsear 2 arar gf aiflwb Gamphs bleb HA (K,=2.0x1076) 1.0 i,
0.1 Guomev HCl sanrgeiled sanrésiul (Derars).

HA -er 4flens eigbd x1072. (eflen e 2 amer (pp ererTantlad)
[HA Caplusgne gpulib uwmwer wrimnsansl Unssell, Wflens aisb

<<1 eTeni& &(Hg |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 57 Question Id : 8643513027 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

15 mL of aqueous solution of Fe2* in acidic medium completely reacted with 20 mL of
0.03 M aqueous C rZO%_. The molarity of the Fe?* solution is %1072 M. (Round

off to the Nearest Integer).
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 57 Question Id : 8643513027 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

15 18160 Fe2* R senraed 20 8.6 0.03 Gomédd Cr,02~ Biésemrsa)Lar =il ser s&sdd
<b 27 2 fEies

ellenemu(NSsLuE na. Fe?t sengsadlenr Cumamfliiyg x 1072 Gume.
(eflen_ siméled o arar (pp erammentled)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100

Question Number : 58 Question Id : 8643513028 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

For a certain first order reaction 32% of the reactant is left after 570 s. The rate constant of
this reaction is %1073 s~ (Round off to the Nearest Integer).

[Given : log;;2=0.301, In10=2.303]
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :
100

Question Number : 58 Question Id : 8643513028 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

@ GO L (psd awens ellenarulléy 570 CBmigsERd@EHL D@ 32% afleneru ()

Cummer WBsb z darerd. @euallenarullen eflenenGeuss wmmbladl P || e
-

(eflenL y(mElcd o cmar (pp erewmantlan)

[@) & : log,,2=0.301, In10=2.303]

Response Type : Numeric
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Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 59 Question Id : 8643513029 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The reaction of white phosphorus on boiling with alkali in inert atmosphere resulted in the
formation of product ‘A’. The reaction of 1 mol of ‘A" with excess of .ﬂf'LgI\I{Cl3 in aqueous

medium gives mol(s) of Ag. (Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 59 Question Id : 8643513029 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Gleuemr LmebUTED WHSeUML @l smrigLen @GhHubssn Gurg ‘A’ erarm
ellenar@ummenerd Canhsdng. 1 Cwmea ‘A’ @idlstiugwren AgNO, Biésen raeL e
effl em ety fl (b Cuome(ser) Ag -enws Csrhadnag. (eflenL oymdley o dran
(WD eTamTemtle )

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 60 Question Id : 8643513030 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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NO,

HNO;,
H,S0,

In the above reaction, 3.9 g of benzene on nitration gives 4.92 g of nitrobenzene. The
percentage yield of nitrobenzene in the above reaction is %. (Round off to the
Nearest Integer).

(Given atomic mass : C: 120u, H: 101, O:16.0 u, N : 14.0 u)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 60 Question Id : 8643513030 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

NO,

HNO,
H,S0,

-

GCuonasarL eflenamuied 3.9 Symd Cuender enplGrm ghobd Clelwyn Gurg 4.92 Sgmb
enpl Com Clueanfenensd Casrhssng.

Cunsar, elameanulle enpl Com Cuearfeailar eflenarésesr 56l %.

dllen_ 2ymdled o grar pp eremmentlen)
(™ (LR )
(@& ianl {ﬁilaﬁ}w :C:120u, H:10u, O:160u, N: 14.0 u)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Mathematics Section A
Section Id : 864351203
Section Number : 5
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Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 80

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351203
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 8643513031 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In a school, there are three types of games to be played. Some of the students play two types

of games, but none play all the three games. Which Venn diagrams can justify the above
statement ?

P Q R
Options :

8643519091, 1 and Q

8643519092, I and R

8643519093, 2 and R

8643519094, None of these

Question Number : 61 Question Id : 8643513031 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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@ uetafllla ppearm eflgwrar efleneTir Hésear aSlevarwirtiuBémg. Ha
wremeuiser @reaw(h eflenerwrlienL eflenemwur(pHdleanmriser. earred Ths
rewelgyd eparm eflenemwurien b eflenerurHeudldane. EpGsaT eThHS

Gleuamru b CuGa Garhsglarer aflourhiseErsE HummBg D ?

P Q R
Options :
8643519091, | DML Q

8643519092, | Lmmie R

e
8643519093. Q omio R

@eneu el Wldrenay
8643519094.

Question Number : 62 Question Id : 8643513032 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The area of the triangle with vertices A(z), B(iz) and C(z +iz) is:
Options :

8643519095.

8643519096.

8643519097.

8643519098.

Question Number : 62 Question Id : 8643513032 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

A(z), B(iz) wmmi C(z+iz) ererm UeTefllgener wenarll yeraflserrss ©l&renr
wp&Caremgdlen Ll :

Options :

ba | =

8643519095.

b | =

8643519096.

N|r—*.

8643519097.

8643519098, 1

Question Number : 63 Question Id : 8643513033 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
. (0 sina

’ 3
It A=) . | and det | A2 i] = (), then a possible value of « is :
| Sino [.'IJ. \ 2 )

Options :

v
8643519099, *
-
8643519100, °
v
8643519101. ©
s
8643519102, 2

Question Number : 63 Question Id : 8643513033 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

0 sinay | PR . ; :
A= WOMIW det | A —1| =0 eraflé a-eim wHLy
Sino []J X w38 f

%,

Options :
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ER

8643519099.

8643519100.

NEN

8643519101.

ER

8643519102.

Question Number : 64 Question Id : 8643513034 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The system of equations kx+y+z=1, x +tky+z=k and x+y +zk= k2 has no solution if k is
equal to :

Options :
8643519103.

8643519104.

8643519105.

]

8643519106.

Question Number : 64 Question Id : 8643513034 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No
Correct Marks : 4 Wrong Marks : 1

kx+y+z=1, x+ky+z=k wpmb x+y+zk=k* eran swerurBsaier GgreEudnes
Sirey @léveney erafléy k- iy

Options :

8643519103, U
8643519104, 1
8643519105,
8643519106, =
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Question Number : 65 Question Id : 8643513035 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Team ‘A’ consists of 7 boys and n girls and Team ‘B’ has 4 boys and 6 girls. If a total of 52

single matches can be arranged between these two teams when a boy plays against a boy
and a girl plays against a girl, then n is equal to :
Options :

8643519107. 2

8643519108. :

8643519109. 5

8643519110. ¥

Question Number : 65 Question Id : 8643513035 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

el ‘A"-6d 7 omemTeu T&(@hLD n wreanredls@hh o ererari. sjenfl ‘B’ -6 4 LrenTel TH(E@HLD
6 wrenellsErh o drerari. CwrEsnd 52 enapwisalar Curiy @rard
o anllFERsSlen_ G rewTeuend@ THITs wrewmeuad wrewedldE edlrrs
wremredlud Gumiiguill L mé n-er wéliy :

Options :

B

8643519107.

e

8643519108.

14 |

8643519109.

o

8643519110.

Question Number : 66 Question Id : 8643513036 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
If the fourth term in the expansion of (x4 xlogy M7 is 4480, then the value of x where x € N is
equal to:

Options :

8643519111, 1
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2
8643519112. ~

[FE]

8643519113.

8643519114.

Question Number : 66 Question Id : 8643513036 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
(x+x°82 %7-6n elfleyuBsalicr Brevaraug 2 miy 4480 erafléd x-e w&lLiL,
@@ x e N

Options :

8643519111, 1

8643519112, =

8643519113, -

8643519114, *

Question Number : 67 Question Id : 8643513037 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The value of 4 is:
1
5 4 :
4 4 ]
5 4
44+ ... *
Options :
: "
. 08 Tt 7]
8643519115. 5
2+ 2 3
8643519116. Vo
54 E 30
8643519117. 5

65/84



3/17/2021

. s
44 I—gq"?rlf]
8643519118. b

Question Number : 67 Question Id : 8643513037 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

44 ! 1
5+ 1
4 4
5 4 . '
1+ .. = -or mdlly
Options :
2
14 =430
8643519115. 2
pE :%;\fﬁi
8643519116.
2
5+ =30
8643519117.
4
A~ )
8643519118. V5

Question Number : 68 Question Id : 8643513038 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If cot~1(a)=cot~12+cot~18 +cot~118 + cot~132 +..... upto 100 terms, then « is :
Options :
8643519119, 100

8643519120, 101
8643519121, 102

8643519122, 1-03

Question Number : 68 Question Id : 8643513038 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No
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Correct Marks : 4 Wrong Marks : 1
cot~l(a)=cot~12+cot~18 +cot~118 +cot~ 132 +..... 100 2 mUL&SET Guenl, ereuflea
o GTETLg) :
Options :

8643519119, 1-00

8643519120. i

8643519121, 1.02

1.03
8643519122.

Question Number : 69 Question Id : 8643513039 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The inverse of y= 5logx jg .

Options :
1

x = 5189
8643519123.
i
s 1)']“55
8643519124, :
x=5logy
8643519125.
1 =y]c>§55
8643519126.

Question Number : 69 Question Id : 8643513039 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
y= glogy _ o (::j{@r" LD :

Options :

b ]c:g:.,r
8643519123, X = °

1
x = y]ugS

8643519124.
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. _clogy
8643519125, X =25

x =L’,]ugS
8643519126.

Question Number : 70 Question Id : 8643513040 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

lim €os Y(x = [x]?) - sin™!(x - [x]?)

4
x—0 - ,1'3

, where [x] denotes the greatest

The value of

integer =X 18:

Options :

w
4
8643519127,
8643519128, U
l 1
Y
8643519129, <
8643519130.

Question Number : 70 Question Id : 8643513040 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
lim €os L(x = [x]?) - sin”!(x - [x]?)

t
x—0 e 13

@rg [x] erarug x-gm L WewsluLrs

BSOGILmm wpepereit eremm ereveneoublan L :

Options :

T
1

8643519127
8643519128, !
.Tr
?
8643519129, 2
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8643519130.

Question Number : 71 Question Id : 8643513041 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following statements is incorrect for the function g(«) for « € R such that

L
sin” x
dx

gla) =

cos®x + sin®x

3“'-‘1 "-—;'-di-':l

Options :

8643519131 g(w) is a strictly increasing function

2643519132, 8(e) is a strictly decreasing function

1
g(a) has an inflection point at « = >
8643519133.

g(a) is an even function
8643519134.

Question Number : 71 Question Id : 8643513041 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

sin®“x

3
gla), a € R eramm &riy gla) = I - dx erenm GUenTWMSSLILIL LT
7 cos®x + sin“x
[}
EpEsam_cubhld ehs Fmmn 2 emenuissnsy ?
Options :
gla) eraug) Sl 1Drs gmib STy
8643519131.

8643519132, B eremug) SlLLons QoEiEh sriy

g(c) TETLIGMHE « = ~ 5 GremD Lemefl euenerey wmhmiliLeTerfl
8643519133.

gla) @ @rlenL LuenL & &miy
8643519134.
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Question Number : 72 Question Id : 8643513042 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No
Correct Marks : 4 Wrong Marks : 1

T

Which of the following is true for y(x) that satisfies the differential equation

d
i =xy—1+x—y;y0)=0:
Options :

' il

gin = il
8643519135.

1

y(l) =e2 — 1
8643519136. y®

' 1 _1

wl)=eZ —e 2
8643519137. )

864351913, V(=1

Question Number : 72 Question Id : 8643513042 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

i : : . . ! : —— . .
i =ay—1+x—y: y(0)=0 eremm &16&&&@&.@& & LD 60T LIIT L lg 0T ﬁ'\r@l y(x) 6T Gutl 6D

SDESETL 6TH) 2 eiTenin ?

Options :

: s

wl)=e T -1
8643519135.

At

yil)=el—1
8643519136.

A=t ot

! =gl —g 2
8643519137. y()

y(l)=1
8643519138. yi&

Question Number : 73 Question Id : 8643513043 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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In a triangle POR, the co-ordinates of the points P and Q are ( — 2, 4) and (4, —2) respectively.
[f the equation of the perpendicular bisector of PR is 2x —y+2=0, then the centre of the

circumcircle of the APOR is :

Options :
8643519139. (1, 4)

8643519140. © 2)

(=1, 0)
8643519141.

(2, ~2)
8643519142.

Question Number : 73 Question Id : 8643513043 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

APQR-& P, Q eremm yereflsaien =owusbsrenaeyser wenGu (-2, 4) womid
(4, —2). PR -z Glemu@ssrs @ mewnssanlHn Carliger g#oearumb 2x—y+2=0 erafle
APQR -@aim &Mhmieul_L e :

Options :
8643519139, (1 %)

8643519140, (U 2)

8643519141, 1. V)

8643519142, (2, —2)

Question Number : 74 Question Id : 8643513044 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The line 2x —y+1=0 is a tangent to the circle at the point (2, 5) and the centre of the circle

lies on x — 2y =4. Then, the radius of the circle is :

Options :

8643519143. 53

8643519144, V4

8643519145, 4¥5
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35

8643519146.

Question Number : 74 Question Id : 8643513044 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
@ el L gdler B (2,5) erenmm uatefluled euenmwiin’ L Qgrm Carligen swerum()
2x-y+1=0 2ps awlLsdler epwWd x—2y=4 eTanip CHEM 1 enWOHSTeD
eul_LG&lem <7D :
Options :

53

8643519143.

e

8643519144
8643519145, 45

=
8643519146, V7

Question Number : 75 Question Id : 8643513045 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Choose the incorrect statement about the two circles whose equations are given below :
x?+y?-10x 10y +41=0 and

x?+y?—16x— 10y + 80=0

Options :

3643519147, Circles have two intersection points.

2643519148, Both circles pass through the centre of each other.

8643519149 Both circles’ centres lie inside region of one another.

Distance between two centres is the average of radii of both the circles.
8643519150.

Question Number : 75 Question Id : 8643513045 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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G Car@ssuulHerer @ream(h eulLkigmer] ubdlu Seuprnes Fbenn Gsfley
Clgwis.
x2+y?—10x— 10y +41=0 wHM LD
x2+y?—16x—10y+80=0

Options :
SR B B i

8643519147 L LmEsET Glra(h Ueraflsaflay CleuiqgsClsranemni.
alreiT(h eul L BiseRd whndler eowwid aulblF Claeey Lb.

3643519145, 2790 esth LoHpS P Qg

2643519149 @irenr(h eul L risaflar enwBSERD gardler LEGHd wHGIDTEN jenwb.
@iran(h epLWESERGE @l lul L SIrD o raselar grrefsE sowrs
9(Th & (& LD.

8643519150. U

Question Number : 76 Question Id : 8643513046 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The equation of the plane which contains the y-axis and passes through the point (1, 2, 3)

15 :

Options :

8643519151, X tz=6
8643519152, ¥ +3z=10

8643519153, ¥ 13z2=0

8643519154, %

Question Number : 76 Question Id : 8643513046 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
(1, 2, 3) eranm yerafl euflwnseyd y-ideng o ararLs&blu serddlen F#wearuim( :
Options :

8643519151, X tz=6

8643519152, X +3z=10
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8643519153, ¥ +3z2=0

z=10

3x
8643519154.

Question Number : 77 Question Id : 8643513047 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If the Boolean expression (p = q) = (q = (~p)) is a tautology, then the Boolean expression
p * (~q) is equivalent to :

Options :

8643519155, F 1

L e
8643519156. P 1

8643519157, 17 F

8643519158, 1 P

Question Number : 77 Question Id : 8643513047 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

(p=9q) < (q*(~p)) eremn Ledlwen Fmmm GwWiwb erafleéd p * (~q) eremy el wer
FaHMIGI FLOMETLD M6 FaMm) :

Options :

P=1

8643519155.

g

8643519156.

=P

8643519157.

“L‘i — I_‘]

8643519158.

Question Number : 78 Question Id : 8643513048 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Fa®

— A A A e A A
Let a =2i —3j +4kand b =7i + j — 6k.

Ifrxa=rxb, r-|i+2j+k/=-3then r-(2i ~3j + kisequal to:
Options :

8643519159. 8

8643519160. )

8643519161. -

8643519162 12

Question Number : 78 Question Id : 8643513048 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

— s A s -
T

a=2i -3j +4k wLPQDB  b=7i+ ] -6k @S

—_ =3 =3
Xa=r1Xbhb,

r 1; | 2} | k =% eraflon g 1% '5} | j}_]—rah' &L
Options :
8643519159, 8

8643519160, 1V

12

8643519161.

8643519162, 13

Question Number : 79 Question Id : 8643513049 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Two dices are rolled. If both dices have six faces numbered 1, 2, 3, 5, 7 and 11, then the

probability that the sum of the numbers on the top faces is less than or equal to 8 is :

Options :

8643519163.

75/84



3/17/2021

s

8643519164.

IS

8643519165.

1
8643519166, 2

Question Number : 79 Question Id : 8643513049 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
@rew(h useL&er 2 mlL LILRd&Eng. @raw(H usenL saflen (pamgeila 1,2, 3,5, 7,
11 eremm @\mBsra @rean(h LsanL safla CuoGe 2 drer (psmisafler gl L 6 8 oysGaur
DDAG BFDE GHMeurs s SenL &G0 Hapssey

Options :

8643519163.

O |

8643519164.

215

8643519165.
1

8643519166.

Question Number : 80 Question Id : 8643513050 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The sum of possible values of x for tan l{x + 1) + cot 1( . 11 = tan 1[
\ X J \,

Options :

8643519167. 4

8643519168. &
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31
4
8643519169.
30
8643519170,

Question Number : 80 Question Id : 8643513050 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

i
tan” '(x + 1) A cnt"1|

A 1 81 : g .
| = tan 1| "%_1‘ GTETDEUTT HENWIWLD FTHHOTE X-SHalen
\ x \ o1/ '

Fa(hHe

Options :

8643519167. *

32
8643519168, 4
31
8643519169, 4
30

8643519170. 4

Mathematics Section B

Section Id : 864351204
Section Number : 6

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351204
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 8643513051 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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The maximum value of z in the following equation z=6xy 1 yz, where 3x+4y = 100 and

4x+3y =75 forx = 0andy = 0 is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 81 Question Id : 8643513051 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

z=6xy +y2 erenmm FweTUT g 2 arer z-en WUGL@m wdly: @riE 3x+4y = 100
wOHmD 4x+3y =75 x = 0 wombd ¥y = 0

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 82 Question Id : 8643513052 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

-

| 2 3 ' :
If A :{ ll,then the value of de[{ﬁa'i] | do_L[Am (Adj(2A))

10
] }I

Jisequalto
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 82 Question Id : 8643513052 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

= : .
A= {; j arafléd det(A?) + det(A10—(Adj(2A))"*° )-em LAY

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
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Possible Answers :
100

Question Number : 83 Question Id : 8643513053 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

If (2021)*762 is divided by 17, then the remainder is ___

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 83 Question Id : 8643513053 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

(2021)3762-gn 17-9pé eu@G&@GHL Gurg denLs@b L4
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 84 Question Id : 8643513054 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

cos(sinx) — cosx
1,4

[f the function f(x)= is continuous at each point in its domain and

£(0) = % then k is _

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 84 Question Id : 8643513054 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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f) =

GerrFflurs @ mobs  f(0) =

Cos(siny)

COsX

X

4

Response Type : Numeric

eremm &y #riussdleér o erer eréverr yeareflsafl &g Wb

1

b erafled k-aim ol

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal
Text Areas : PlainText

Possible Answers :

100

Question Number : 85 Question Id : 8643513055 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

If [ - ] represents the greatest integer function, then the value of

\F
f
0

[[12] cosx]dx is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal
Text Areas : PlainText

Possible Answers :

100

Question Number : 85 Question Id : 8643513055 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

[ -] erenmugy BOUGCILIH wpp eTewT &MLy erafled

Response Type : Numeric

[[IE] cnsx} dx| e W&l

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal
Text Areas : PlainText

Possible Answers :

100

Question Number : 86 Question Id : 8643513056 Question Type : SA
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Correct Marks : 4 Wrong Marks : 0

The minimum distance between any two points P, and P, while considering point I’; on one
circle and point P5 on the other circle for the given circles’ equations

x2+y2—-10x— 10y +41=0
x2+y? —24x 10y + 160=0 is
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 86 Question Id : 8643513056 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

P; ereiiuig) Spssenrl el L misafléd geamblen WBgib Py ereruig) wnGmmm eul L gdle
Bg) o érer yerefl eremmb ClamarLme

x2+y?—10x— 10y +41=0

x2+y2—24x— 10y +160=0

P, P, -gaflen 5&Am g

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 87 Question Id : 8643513057 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

If the equation of the plane passing through the line of intersection of the planes
2x -7y +4z—-3=0, 3x—- 5y +4z+11=0 and the point (-2, 1, 3) is ax + by+cz—7=0, then
the value of 2a+b+c—7 is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100
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Question Number : 87 Question Id : 8643513057 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

2x—7y+4z-3=0 wOmb 3x-5y+4z+11=0 eranmm Sarmser eyl (Hw CHriigen
euflwrseyd (-2, 1, 3) erenmm YeTall eudlwrseyb Cgawg)bd senddler Fwearum(h
ax +by+cz—7=0 erafled 2a+b+c—7-ar wHLL

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 88 Question Id : 8643513058 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
Let there be three independent events ]E.Ir ]E.2 and E.3. The probability that only E‘I OCCUTS 15 o,
only E, occurs is p and only E; occurs is y. Let “p’ denote the probability of none of events
occurs that satisfies the equations (a—2p)p=ap and (f —3vy)p=2py. All the given

probabilities are assumed to lie in the interval (0, 1).

Pr obability of occurrence of Eq

Then, is equal to

Probability of occurrence of E4

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 88 Question Id : 8643513058 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

E, E, E; eraruan eparm armldoeorg bBlapsflsdar. E; vl (B, E, bl (Hb womb E,
b (Hb Heiughasrar Bapssa; wanGw a, B, vy @GD. p aatlg ahs
Hlapsdlyn SanLsars flespsflllar flapssal, (a—2B)p=af wOmD (B—3y)p=2Py

GTEIMEUTT) 2 aTeng). eream BlEnssals@Esbd (0, 1) eramm Gean Cleuafluder oanwbgrea,

E; el Lsnh&Ten Hl& L& He,

E; dlenLusnsnen Hlepss6, Eais

Response Type : Numeric
Evaluation Required For SA : Yes
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Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 89 Question Id : 8643513059 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

e Y

i
If f(x)= sf_n{cos 1

2 e S s : s b
g ‘ and its first derivative with respect to x is —log, 2 when
1 h a o

A

. . @ o) 72 .
x=1, where a and b are integers, then the minimum value of |a~— b~ is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 89 Question Id : 8643513059 Question Type : SA
Correct Marks : 4 Wrong Marks :

A
x -y Curmss wae euamssblp x=1 erayd Gumups

1 2?‘I \‘
'y

f(x) = 5ﬁ1{c05_1 [W

\

ElngE 2 erafléd, @M@ a, b eramuar wpp erawaar, |a2—b?|-enr Befm wd iy

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 90 Question Id : 8643513060 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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If a =«

b

el

—

Bi

such that a

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

4 [5: L3k,
ru L and
27 — k
'—>‘£> =1 andlg-

—
C

3, then lI:

3

Question Number : 90 Question Id : 8643513060 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

e

a

b

]

=]

ai +Bj + 3k,

.

(=0}

2]

Il
=

0t ;‘ k LD MILD
k, eremmiLD
& : . — —
LOmWL b - c

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

3

GT GOT M)

8

(

b

bore |
L 3

— e
axbh

[: ” EJ ) E’] is equal to

). 2)-én iy
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